
𝑓

𝑓(𝑥) = 3𝑥2 + 4√𝑥 𝑓(𝑥) = 5𝑥3 − 3𝑥2

𝑓(𝑥) = (3𝑥2 + 4𝑥)(5𝑥 − 1) 𝑓(𝑥) =
1

2𝑥2+5𝑥
𝑓(𝑥) =

6𝑥−5

𝑥2−2𝑥−1

𝑓(𝑥) = 𝑢(𝑥) + 𝑣(𝑥) 𝑢(𝑥) = 3𝑥2 → 𝑢′(𝑥) = 3 × 2𝑥 = 6𝑥

𝑣(𝑥) = 4√𝑥 → 𝑣′(𝑥) = 4
1

2√𝑥

2

√𝑥

𝑓′(𝑥) = 𝑢′(𝑥) + 𝑣′(𝑥) 6𝑥
2

√𝑥

𝑓(𝑥) = 𝑢(𝑥) + 𝑣(𝑥) 𝑢(𝑥) = 5𝑥3 → 𝑢′(𝑥) = 5 × 3𝑥2 = 15𝑥2

𝑣(𝑥) = −3𝑥2 → 𝑣′(𝑥) = −3 × 2𝑥 = −6𝑥

𝑓′(𝑥) = 𝑢′(𝑥) + 𝑣′(𝑥) = 15𝑥2 + (−6𝑥) = 15𝑥2 − 6𝑥

𝑓(𝑥) = 𝑢(𝑥)𝑣(𝑥) 𝑢(𝑥) = 3𝑥2 + 4𝑥 → 𝑢′(𝑥) = 6𝑥 + 4

𝑣(𝑥) = 5𝑥 − 1 → 𝑣′(𝑥) = 5

𝑓′(𝑥) = 𝑢′(𝑥)𝑣(𝑥) + 𝑢(𝑥)𝑣′(𝑥)

= (6𝑥 + 4)(5𝑥 − 1) (3𝑥2 + 4𝑥 ) × 5

= 30𝑥2 − 6𝑥 + 20𝑥 − 4 + 15𝑥2 + 20𝑥



= 45𝑥2 + 34𝑥 − 4

𝑓(𝑥) =
1

𝑢(𝑥)
𝑢(𝑥) = 2𝑥2 + 5𝑥 → 𝑢′(𝑥) = 4𝑥 + 5

𝑓′(𝑥) −
𝑢′(𝑥)

𝑢(𝑥)2 −
4𝑥+5

(2𝑥2+5𝑥)2

𝑓(𝑥) =
𝑢(𝑥)
𝑣(𝑥)

𝑢(𝑥) = 6𝑥 − 5 → 𝑢′(𝑥) = 6

𝑣(𝑥) = 𝑥2 − 2𝑥 − 1 → 𝑣′(𝑥) = 2𝑥 − 2

𝑓′(𝑥) =
𝑢′(𝑥)𝑣(𝑥)−𝑢(𝑥)𝑣′(𝑥)

𝑣(𝑥)2

=
6(𝑥2−2𝑥−1)−(6𝑥−5)(2𝑥−2)

(𝑥2−2𝑥−1)2

=
6𝑥2−12𝑥−6−12𝑥2+12𝑥+10𝑥−10

(𝑥2−2𝑥−1)2

=
−6𝑥2+10𝑥−16

(𝑥2−2𝑥−1)2

 


